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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

1 + 6 =

4 + 2 =

2 + 2 =

5 + 1 =

7 + 8 =

8 + 1 =

3 + 2 =

9 + 3 =

6 + 8 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

3 + 4 = 5 + 9 = 8 - 5 = 5 x 7 = 4 x 3 =

6 + 5 = 18 ÷ 6 = 6 + 8 = 5 + 8 = 9 + 8 =

15 ÷ 5 = 5 + 8 = 7 x 6 = 8 x 4 = 6 + 4 =

6 - 3 = 8 + 6 = 3 + 8 = 8 + 3 = 8 + 9 =

24 ÷ 8 = 3 x 7 = 8 - 5 = 3 x 9 = 24 ÷ 3 =

12

8 4

11

7

11

7

14

9

9

8

28 + 4 = 74 + 7 = 43 + 8 = 37 + 5 = 55 + 5 =

15 + 8 = 67 + 4 = 45 + 9 = 26 + 8 = 67 + 9 =

58 + 9 = 18 + 5 = 35 + 7 = 77 + 5 = 78 + 5 =

16 + 3 = 34 + 3 = 44 + 8 = 25 + 7 = 69 + 8 =

59 + 6 = 65 + 8 = 18 + 5 = 49 + 9 = 34 + 7 =

24 + 6 = 74 + 8 = 59 + 5 = 78 + 3 = 29 + 4 =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

4 + 4 =

3 + 1 =

6 + 5 =

5 + 1 =

9 + 7 =

2 + 4 =

1 + 1 =

7 + 8 =

8 + 3 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

6 x 9 = 4 x 4 = 63 ÷ 9 = 9 + 8 = 4 + 8 =

5 x 4 = 5 + 4 = 9 + 3 = 5 + 8 = 8 x 7 =

3 x 9 = 28 ÷ 7 = 8 + 3 = 3 + 3 = 5 - 3 =

4 + 5 = 5 x 8 = 35 ÷ 5 = 7 x 7 = 5 + 7 =

3 + 8 = 3 + 5 = 9 + 3 = 9 - 4 = 3 + 3 =

3 x 7 = 56 ÷ 8 = 4 + 8 = 7 + 5 = 8 - 7 =

10

7 3

16

8

16

7

15

6

9

8

76 + 6 = 26 + 4 = 33 + 5 = 57 + 4 = 66 + 9 =

48 + 4 = 19 + 6 = 75 + 5 = 14 + 9 = 27 + 6 =

45 + 8 = 35 + 3 = 67 + 5 = 56 + 9 = 74 + 7 =

47 + 6 = 64 + 9 = 58 + 4 = 73 + 5 = 17 + 7 =
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Help Robot find Rover.  Make a path of increasing 
sums.  You can only move to a box with a larger sum. 
Draw a line to show your path.

1 8
+ 2 1

1 7
+ 2 4

3 4
+ 1 3

3 1
+ 1 7

1 6
+ 3 3

9 4
+ 9 8

8 6
+ 5 8

6 2
+ 3 6

6 1
+ 1 1

4 2
+ 2 3

3 6
+ 2 8

1 1
+ 5 1

3 0
+ 2 5

5 9
+ 5 8

4 5
+ 1 4

2 4
+ 7 3

1 1
+ 1 2

1 5
+ 5 9

5 5
+ 2 2

4 6
+ 3 7

2 2
+ 6 2

3 0
+ 5 8

4 8
+ 4 1

7 4
+ 1 8

5 2
+ 3 2

5 9
+ 7 7

3 3
+ 8 6

3 9
+ 7 1

6 7
+ 9 8

1 9
+ 1 9

6 4
+ 8 8

3 6
+ 4 2

1 3
+ 8 1

6 0
+ 7 7

6 1
+ 5 7

9 0
+ 7 2

8 3
+ 2 9

7 1
+ 3 8

3 8
+ 6 8

5 2
+ 5 1

3 7
+ 6 4

4 4
+ 5 4

8 0
+ 3 4

5 1
+ 4 9

3 5
+ 7 9

9 0
+ 2 3

7 4
+ 7 6

4 3
+ 7 8

1 2
+ 8 1

7 0
+ 9 0

5 3
+ 7 9

4 1
+ 2 3

5 8
+ 9 4

5 1
+ 6 4

6 3
+ 5 3

7 4
+ 4 4

6 6
+ 5 7

9 4
+ 3 0

5 6
+ 7 3

7 5
+ 5 5

7 9
+ 5 5

7 7
+ 5 8

2 0
+ 4 6

9 1
+ 8 7

5 3
+ 6 4

9 7
+ 3 7

4 0
+ 9 0

2 1
+ 1 6

8 3
+ 9 4

7 5
+ 3 0
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Mrs. Miller has a black 
cat. He is black all over. 
She said he doesn't 
have one white hair on 
his body! Yesterday he 
got sick. Mrs. Miller took 
him to the animal 
hospital for some 
medicine. It cost $39.10. 
Mrs. Miller gave the 
doctor a $50 bill. How 
much change did she 
get?

Peter made a poster for 
"Be Kind to Me Day." He 
used red paper. He put 
silver stars on it. He 
printed "Be Kind to Me 
Day" on it. He put it on 
his door. It took him 48 
minutes to make the 
poster. He started 
working on it at 11:30 a.m.
What time did he finish 
it?

Ava is making chocolate 
milkshakes for April's 
birthday party. There 
will be fifteen people at 
the party. It takes half 
of a cup of milk to make 
one chocolate milkshake.
How many cups of milk 
will it take to make 
fifteen milkshakes?

It is 86 degrees Fahrenheit 
outside.  What would you 
wear if you are going 
outside?

Make a pattern.
Start with 15.
Add 9.

, , , , ,

How do you know if a number is divisible by 9?  Use this trick.

65,902,185 6 + 5 + 9 + 0 + 2 + 1 + 8 + 5 =  

+ =  Is that a multiple of 9?  Circle:  Yes   No

Circle one:  65,902,185 is divisible by nine       65,902,185 is not divisible by nine

381,915 + + + + + =  

+ =  Is that a multiple of 9?  Circle:  Yes   No

Circle one:  381,915 is divisible by nine       381,915 is not divisible by nine
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This is the look at one cube
that is turned around a few times.

4
5

1

9
3

4

5
6

1

This pattern can be folded into
the cube.  Fill in the missing boxes.

9
4 1 3

Justin picked 5 baskets of 
apples. There were 20 
apples in each basket. 
How many apples did he 
pick?

squirt

sqeert

sqirt

squir

6

18

6

18

The perimeter is .

Which number is greater: 0.2 
or 0.28? 9 8

- 9 2

What are the first three 
multiples of 4?

Write the length in centimeters.

cm 1 2 3 4 5 6

4 20

How many inches are in two 
feet?

Kevin's birthday is in February. 
Emily's birthday is two months 
after Kevin's birthday.  What 
month is Emily's birthday?

List the first five multiples of 5.

Do parallel lines intersect?

Circle the word that best completes the 
sentence.
I hope that you will be able to 
(accept/except) my decision.
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1 8 9 1 2 7 7 7 3 ÷ = 2 9 = 1 4 3
= = 2

Use the pieces above to help you fill in the runaway math puzzle.

What is half of 34? Which is smaller, 1
3 or 2

3 ? spen

speht

spent

spint

How many thirds are in 5? Locate where to put the number 260,000
and label the point M.

250,000 270,000

2
8 ÷ =

÷ 0
7 2 ÷ = ÷

3 5 ÷ 5 = 2
9 6 ÷ 4 = 9 6 1 6

5 ÷ 5 = 5 ÷ 0 0
1 6 4 8 ÷ 8

4 ÷ 1 = 4
3 6 3 ÷ 7 9

0
0 ÷ = 0
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66
+ 93

211
- 84

69
+ 47

401
- 41

851
- 37

63
+ 93

53
+ 24

141
- 96

311
- 24

461
- 47

18
+ 05

93
+ 57

27
- 53

98
+ 31

33
+ 02

811
- 68

54
+ 78

711
- 16

68
- 52

18
+ 28

65
+ 97

82
+ 26

771
- 08

611
- 07

15
+ 17

111
- 52

27
- 51

631
- 48

62
+ 25

65
+ 22

62
+ 24

611
- 02

65
- 63

78
+ 14

61
+ 56

701
- 48

36
+ 23

66
- 23

501
- 91

89
- 71

36
+ 97

12
+ 77

9
+ 4

+ 4

+ 9

62
+

33
-

42
+

33
- 8

+ 6

13
-

82
-

12
+

72
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0 3 7 2 2 4 7 + 2 + = 6

Use the pieces above to help you fill in the runaway math puzzle.

Fill in the boxes so each line equals 8.

8

x 2

13 -

88 ÷

( 13 - ) +

How many days are in 
September?

Which is larger, 3 or 0.8?

Round 672,359 to the nearest 
hundred.

+ + 4 =
+

+
+ 3 = 1

2 +
1 + 1 = 4

4 =
7
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
222

is the sum
2

ones

9

tens

5

tens

8

tens

222
is the sum

2

ones

5

tens

8

tens

152
is the sum

9

tens

1

ten

5

tens

Example:
2 + 90 + 50 + 80 = 222

Example:
2 + 90 + 10 + 50 = 152

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 9 ones, 2 ones,  or 6 ones.

The other three numbers have to all be DIFFERENT and must be from these: 9 tens, 5 tens, 1 ten,  

or 8 tens.

1425

tens

8

tens

1

ten

2

ones

229 9

tens

9

ones

tens

229

5

tens

9

ones

1

ten

ones

tens

182
tens

1

ten

222

2

ones

tens

9

tens

2

ones
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 1 one, 8 tens, 2 ones, 7 tens,  or 

9 tens.

The other three numbers have to all be DIFFERENT and must be from these: 5 thousands, 3 

thousands, 6 hundreds, 4 hundreds,  or 3 hundreds.

84805

thousands

3

thousands

8

tens

4

hundreds

8690 6

hundreds

thousands

tens

5970
tens

hundreds

thousands

5970 3

hundreds

6

hundreds

5770
tens hundreds

3990

hundreds

8390
tens

5

thousands

hundreds

83013

thousands hundreds

one

3980
tens

thousands

5980
hundreds

1370

5701
hundreds

thousands

3790
hundreds

tens

hundreds

tens thousands

word root act can mean drive or do actor, action
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Find 2 equations hidden in each box.  Good luck!

6 - 2

4
8 - 1

7 5

8
5 - 20

Write 2 equations:

1 x 2
2

2 x 0

0

6 x 6

32

8 x 9

81

2 x 4

35

4 x 3

24

6 x 1
45

14

6 x 5
49

Write 2 equations:

3500 + 332

3832

5283 + 159
5442

7112 + 197

5699

57507158 + 3609538 + 949

44639597 + 698

627 + 2657

2833

10590

5605

Write 2 equations:
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cents gesture about dive tour several
Each row, column, and box must have all the words from the word list.  Write in the missing 
words.

gesture tour dive

about dive

cents dive tour

cents

cents tour

Color 29
100 . Write the number for 

seven thousand,  three 
hundred forty.

3 0 - 4 =

Write two odd numbers that 
when added together equal 
the even number 12.

12

current time (pm)

12

time party starts (pm)

How long until the party?

If  = 7, then 9 +  = 
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